Solutions to Chapter 17 – Financial Forecasting & Planning
17-1
AFN = (A*/S0)(S - (L*/S0)(S - MS1(RR)
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    = (0.6)($1,000,000) - (0.1)($1,000,000) - ($300,000)(0.3)

    = $600,000 - $100,000 - $90,000

    = $410,000.
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AFN = 
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    = (0.8)($1,000,000) - $100,000 - $90,000

    = $800,000 - $190,000

    = $610,000.

The capital intensity ratio is measured as A*/S0.  This firm’s capital intensity ratio is higher than that of the firm in Problem 17-1; therefore, this firm is more capital intensive--it would require a large increase in total assets to support the increase in sales.

17-3
AFN = (0.6)($1,000,000) - (0.1)($1,000,000) - 0.05($6,000,000)(1)

    = $600,000 - $100,000 - $300,000

    = $200,000.

Under this scenario the company would have a higher level of retained earnings, which would reduce the amount of additional funds needed.

17-5
Sales = $5,000,000,000; FA = $1,700,000,000; FA are operated at 90% capacity.

a.
Full capacity sales = $5,000,000,000/0.90 = $5,555,555,556.

b.
Target FA/S ratio = $1,700,000,000/$5,555,555,556 = 30.6%.

c.
Sales increase 12%; (FA = ?


S1 = $5,000,000,000 ( 1.12 = $5,600,000,000.


No increase in FA up to $5,555,555,556.


(FA = 0.306 ( ($5,600,000,000 - $5,555,555,556)


    = 0.306 ( ($44,444,444)


    = $13,600,000.

17-7


Actual
Forecast Basis
Pro Forma
Sales
$3,000
( 1.10
$3,300  

Oper.costs excluding

  depreciation
 2,450
( 0.80 Sales
 2,640  
EBITDA
$  550

$  660  

Depreciation
   250
( 0.0833 Sales
   275  
EBIT
$  300

$  385  

Interest
   125

   125  
EBT
$  175

$  260  

Taxes (40%)
    70

   104  
Net income
$  105

$  156  
17-13
a.


   Forecast


  2002  
    Basis    
   2003

Sales
  $1,528
(  1.20
$1,833.60

Operating costs
     933
(  0.60 Sales
 1,100.16
EBIT
  $  595

$  733.44

Interest
      95

    95.00

EBT
  $  500

$  638.44

Taxes (40%)
     200

   255.38

Net income
  $  300

$  383.06

Dividends  (25%)
  $   75

$   95.77

Addition to retained earnings
  $  225

$  287.29

b.
From the first question we know that the new dividend amount is $95.77.

(Dividends = ($95.77 ( $75.00)/$75.00 = 0.2769 = 27.69%.

17-16
a.
Morrissey Technologies Inc.
Pro Forma Income Statement

December 31, 2003
                                            Forecast        2003

                                 2002         Basis       Pro Forma 
Sales                         $3,600,000      1.10       $3,960,000

Operating Costs                3,279,720      0.9110      3,607,692
EBIT                          $  320,280                 $  352,308

Interest                          20,280                     20,280
EBT                           $  300,000                 $  332,028

Taxes (40%)                      120,000                    132,811
Net income                    $  180,000                 $  199,217
Dividends: $1.08 ( 100,000 =  $  108,000                 $  112,000*

Addition to RE:               $   72,000                 $   87,217

*2003 Dividends = $1.12 ( 100,000 = $112,000.

Morrissey Technologies Inc.
Pro Forma Balance Statement
December 31, 2003
                                 Forecast

                                  Basis (                     2003


                        2002    2003 Sales   Additions     Pro Forma
Cash                 $  180,000    0.05                   $  198,000

Receivables             360,000    0.10                      396,000

Inventories             720,000    0.20                      792,000
  Total current

   assets           $1,260,000                           $1,386,000

Fixed assets          1,440,000    0.40                    1,584,000
Total assets         $2,700,000                           $2,970,000
Accounts payable     $  360,000    0.10                   $  396,000

Notes payable           156,000                              156,000

Accrued liab.           180,000    0.05                      198,000
  Total current

   liabilities       $  696,000                           $  750,000

Common stock          1,800,000                            1,800,000

Retained earnings       204,000               87,217*        291,217
  Total liab.

   and equity        $2,700,000                           $2,841,217
AFN =                                                     $  128,783
*See income statement.

b.
    AFN = $2,700,000/$3,600,000((Sales)

       - ($360,000 + $180,000)/$3,600,000((Sales)

       - (0.05)($3,600,000 + (Sales)0.4

     $0 = 0.75((Sales) - 0.15((Sales) - 0.02((Sales) - $72,000

     $0 = 0.58((Sales) - $72,000

$72,000 = 0.58((Sales)

 (Sales = $124,138.

Growth rate in sales = 
[image: image4.wmf]3.45%.
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17-17
a. & b.
Lewis Company
Pro Forma Income Statement

December 31, 2003

(Thousands of Dollars)
                           2002     Forecast Basis     2003 Pro Forma 

Sales                     $8,000         1.2               $9,600

Operating costs            7,450         0.9313             8,940
EBIT                      $  550                           $  660

Interest                     150                              150
EBT                       $  400                           $  510

Taxes (40%)                  160                              204
Net income                $  240                           $  306
Dividends:  $1.04 ( 150 = $  156     $1.10 ( 150 =         $  165

Addition to R.E.:         $   84                           $  141

Lewis Company
Pro Forma Balance Sheet
December 31, 2003

(Thousands of Dollars)
                             Forecast            1st            2nd

                             Basis (             Pass    AFN    Pass

                     2002  2003 Sales Additions  2003  Effects  2003


Cash                $   80    0.010             $   96         $   96

Receivables            240    0.030                288            288

Inventories            720    0.090                864            864
  Total current

    assets          $1,040                      $1,248         $1,248

Fixed assets         3,200    0.400              3,840          3,840
  Total assets      $4,240                      $5,088         $5,088
Accounts payable       160    0.020             $  192         $  192

Accrued liab.           40    0.005                 48             48

Notes payable          252                         252  + 51**    303
  Total current

   liabilities      $  452                      $  492         $  543

Long-term debt       1,244                       1,244  +248**  1,492
  Total debt        $1,696                      $1,736         $2,035

Common stock         1,605                       1,605  +368**  1,973

Retained earnings      939               141*    1,080          1,080
  Total liabilities

   and equity       $4,240                      $4,421         $5,088
AFN =                                           $  667
*See income statement.

**CA/CL = 2.3; D/A = 40%.

Maximum total debt = 0.4 ( $5,088 = $2,035.

Maximum increase in debt = $2,035 - $1,736 = $299.

Maximum current liabilities = $1,248/2.3 = $543.

Increase in notes payable = $543 - $492 = $51.

Increase in long-term debt = $299 - $51 = $248.

Increase in common stock = $667 - $299 = $368.
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